
1. Complete the sentence with an appropriate form of the verb in brackets. 

Sometimes more than one answer is possible.  

 

1. We _____________ (divert) to Olsztyn-Mazury if it _______________ (equip) in ILS.  

2. If we ____________ (have) more fuel, we ____________ (hold), but we don’t.  

3. There _____________ (not be) a delay if we _____________ (have) an operative APU.  

4. If the staff ___________ (be) better trained, the accident ____________ (not happen).  

5. If he _____________ (not be) adequately trained, the incident ______________ (have) 

tragic consequences.  

6. If we _____________ (not lower) the gear manually, we ______________ (have to) do a 

belly landing.  

7. We ______________ (not ask) for low pass, if we _______________ (have) three greens.  

8. The gear _______________ (not collapse) if it ________________ (be) fully locked. 

Apparently, it wasn’t.  

9. If there _______________ (be) no amendments we ________________ (land) on time. 

 

 

2. Use the following prompts to speculate about the past, present and future. Write 

your ideas down. 

 

• COVID 19  

• Cpt. Wrona’s belly landing  

• Solidarity Airport (Solidarity Transport Hub Poland – CPK) 

• 737 MAX 


